Year 5 Arithmetic Practice Test
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Year 5 Arithmetic Practice Test Primary

SSolutions
Answers
1 957 + 100 = 1057 1|m:ar|k
2 6661 - 200 = 6461 1|m:ar|k
3 ¥ =+ 1 = 32 Ek
4 866 - 9 = 85 1|m:ar|k
5 766 = 795 - 29 Ek
6 18 + 3 = 6 1|m:ar|k
7 1631 + 5322 = 6953 1|m:ar|k
8 | 6436 = 6946 - 510 mDark
9 88 x 3 = 264 Ek
10 216 + 8 = 27 1|m:ar|k
11 | 60% of 90 = 54 Ek
12 30 x 80 = 2400 1 mark
Drimary Primary
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Year 5 Arithmetic Practice Test Primary

SSolutions
Answers
13 | 13120 + 10 = 1312 1|m:.—,r|k
14 | 8801 + 97 = 97.71 Jm:arlk
15 | 226 + 255 = 2515 1|m:ar|k
16 18 - 79 = 10.1 1|m:ar|k
17 | 2463 - 397 = 2066 1|m:ar|k
18 7° + 4 = 53 1|m:ar|k
19 | 76.1 - 2537 = 50.73 1|m:ar|k
20 318 - 233 = 85 1|m:ar|k
21 91 x 62 = 5642 JEKS
292 % - ; = S (or equivalent) 1|m:ar|k
23 5715 =+ 9 = 635 ZEI(S
24 2 - 7 - 351 1 mark
Drimary Drimary
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Year 5 Arithmetic Practice Test Primary

SSolutions
Answers
20 1 27 .
25 35t 5 T 35~ (or equivalent) 1|m:ar|k
20 44 x 779 = 34276 ZEL
27 % x 4 = % or 2 % (or equivalent) 1|m:ar|k
28 80% x 50 = 40 S
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